Subject: Re: Basic format code question
Posted by Foldy Lajos on Mon, 16 Oct 2006 14:50:34 GMT

View Forum Message <> Reply to Message

On Mon, 16 Oct 2006, Wox wrote:

This will not work:
readf,lun,b,format="(F13)’'

Where do | have to use the format keyword then?

>

>

>

>

>

> As far as | can see it now, | have to read strings or unformatted
> array and split+make float.
>
>
>
>
>
>

On Mon, 16 Oct 2006 14:18:00 +0200, FOLDY Lajos <foldy@rmki.kfki.hu>
wrote:

>> Back to the original problem: in IDL, you will have to use an explicit

>> FORMAT specification in Windows.
>

and what about this: readf,lun,b,format='(5F13)'

Format reversion terminates the current record, and begins to work on the
next one. This means a new line both on read and write.

regards,
lajos
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